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Full form of GUl is :

GUI ®HT QUi ®7 § :

(a) Graphics use interaction/TfHEH IS 1 ITFM
@ §

(b) Graphical user interface/TE®HT SR ISTHH

(c) Graph use interface/dT® IX®Y T ITATM FL

(d) None of the above/3TUE H ¥ HIE &l (b)

Which one of the following are magnetic devices?

Frafafaa ¥ ¥ = Sa@g U 87

(a) Hard Disks/8Te fe&h

(b) Tapes/é’q

(c) Both (a) and (b)/(a) 3R (b) 2T

(d) None of the above/STa § | HIE &I (©

The Rajasthan canal brings the water of which

river?

g T few T @ o @ @

(a) Sutlej/qaas (b) Ravi/Tst

(c) Ghaghra/smerq (d) Yamuna/3q1 (a)

Keoladeo National Park is in which city?

PR T IO fRE v A #

(a) Alwar/3TeTaX

(b) Bharatpur/¥idq{

(c) Ranthambore/T0TeeiR

(d) Ghana/&m =1 (b)

Which of the following state has the largest area

o1 ¥ ¥ FA-T 7o Wit 4% 9l §

(a) Uttar Pradesh/3X 39

(b) Madhya Pradesh/q9¥4 eyl

(c) Rajasthan/TSEIH

(d) Maharashtra/HeRIs (©)
When is International Women's Day
celebrated?

srmieta wigen feaq wa T=@n SIar @

(a) 8th March/8 =T<

(b) 9th January/9 S=all

(c) 7th April/7 318

(d) 27th May/27 W (a)
Who gave the slogan of Jai Jawan Jai Kisan?
wq WA wg frarm @ T e femr ar
(a) Mahatma Gandhi/@&TeaT it

(b) Indira Gandhi/zf=a miis

(c) Lal Bahadur Shastri/@Tel ¥81gT &A1

(d) Jawaharlal Nehru/SraTe? €161 48& (©)

10.

i §i

12,

13.

14.

Gl HgTaeh Ut

Insulin controls the level of

i free @ = Prifia v @

(a) Sugar/IEFHT (b) Fat/as

(c) Salv/TH (d) Protein/gEA (a)
The capital of Chhattisgarh is

BErETg W ST §

(a) Indore/3<R

(b) Raipur/Ta

(c) Jamshedpur/ﬁrq?ﬁgt

(d) Bhopal/siraret (b)
Baghdad is the capital of which country?
Tere fea 39 @ Teae €

(a) Saudi Arabia/¥331 3V

(b) Kuwait/&ad

(c) lraq/E&&

(d) Afghanistan/3THEA (©
The sum of all the angles of a right triangle is
T frgw ® w9 WO @ A §

(a) 45° (b) 90°

(c) 180° (d) 185° ©)
In which country is the Wimbledon tennis
tournament held?

famerse 2w wfeafiar @F-3 9 o emafea
W W

(a) USA/gEHT

(b) Australia/3r2fEan

() England/?’%“’g

(d) France/%iq (©)
L HAeE + €, M T Hae® -, N &l 9deS x,
P SRl Haei® / & @ 15 N 10 L30 P6MS =

If L stands for +, M stands for -, N stands for X, P stands
for/then1ISNI1O0L30P6M8=

(a) 145 (b) 146

(c) 147 (d) 148 (©)
afe 20-10=2,8/4=32, 6x2=8, W 100-10x4/6=
If 20-10 means 2,8/4 means 32, 62 means 8,
then 100-10x4/6 equals
(a) 32

(c) 35

(b) 34

(d) 36 (b)
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15. Five persons-A, B, C,Dand E aresitting in a row. Who

16.

17

18.

19.

is sitting in the middle if :

Y =afe - A, B, C, D, E@Wﬁaﬁﬁé%lqﬁ
(i) B is between E and C (ii) B is to the right of C (iii) D is
between A and E.

(i) B, E9 C & 7% B (ii) B, C & T0feA 21 (jii)
D,AFER A e am TR ST & 7

(@A (b)B (©D (dE (d)
frer o W e ant 3 |
How many squares in this Diagram :

(@9 (b)10 (c) 14 (d)18 (¢)

A, B ¥ ad @gr ¥, 3l ¢ ¥t a¢ Bren B
q D 3ar 9 R C, D ¥ fora o wer @

A is 3 years older to B and 3 years younger to C. B and
D are twins. How many years older is Cto D?

(a) 2 (b)3 (c) 6 (d) 12 (b)
Find the number which when added to 13 times
itself gives 112.

Tg Wen fofled vt == & 13 T & g

WY UT 112 3T &

(a)7 (b) 8 (c)9 (@11 (b)

( a/37) Rahul is currently 25 years younger than
his mother/TEA W Tad U | | 25
= grer R

(b/&) Rahul's brother who was born in 1964
is 35 years younger than his mother/TTget
T WIE T 1964 W YT g o1 U i
¥ 35 98 BT R

In which year was Rahul born?

g T o & %1 gaw o

(@) (a) alone is sufficient while (b) alone is not

sufficient/(27) 3Tl Faia & STafF (F) Thal

T T )

(b) alone is sufficient while (a) alone. is not

sufficient/(¥) 31ehell vald © Safeh (37) 3TPen

i & R

(a) or (b) is sufficient/(3) a1 () wafa 2)

Both (a) and (b) are sufficient/(31) a (d)

A gata B ()

(b)

©
(d)

20.

21,

22

( a/37) 1/4 of each cube is 5 kgm PG 1) ;;,
174 w5 Tawe &1

( b/& ) The weight of three pillars is 20 kg moy,
than the total weight of two pillars/dy
Tl T W S @ B /A W N g
ferett arferes R

What will be the total weight of 10 pillars, if the

weight of each pillar is equal?

10 T &1 et 9R fohan 2, ARk v w5

TR R @

(a) Only(a)is sufficient, while (b) only is not sufficieny/

Sae (37) T ¢ SHith @Ad (9) v 6

(a) or (b) is sufficient/(31) &1 (¥) YTIw 2

Neither (a) or (b) is sufficient/(31) a1 (¥)

FiE ot yafa T R

(b)
(©

(d)
A ot B (b)
(37) A company sold 8000 units of a product, each
unit costing Rs.25/Teh &A=l J Tah 3qIe
@t 8000 FohTS Seit, Wk SIS I Fa
25 & 9t
(/) This company does not have any other
productfsvmaﬂaﬁ? AR e T {1
What was the total sales of the company?
T w w P Rl o
(@ Only (a) is sufficient while (b) only is not
sufficient/saer (31) W@ & Safe Haa (3)
i e R
(b)
sufficient/ (31) a1 (&) Tatw
Neither (a) or (b) is sufficient/ (37) a1 ( )
E R
Both (a) and (b) are sufficient/ (31) & (F)
T Tt ) (d)

How many triangles are there in the following
picture

foror Forr 3 fommrt fireger 3

/

©

(d

() 10
(d) 14

(a) 8

(c) 12 d)

=3

Neither (a) or (b) is sufficient/ (a) or (b) is |

Both (a) and (b) are sufficient/(31) T (¥) |
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23.

24.

28,

26.

27.

28.

29,

30.

31.

froft ¥ svTelt W fafa -
2,1,172, 144, ........
(a) 1/3 (b) 1/8 (c)2/8
foft ¥ arTet wWear fafa -
7,10,8,11,9, 12, ...
(a) 7 (b) 10 (c) 12 (d) 13 (b)
YT WY ot wikew svearfust T A Tt B

/Y wigen ey g B
frend: (A) qET gEaw A T T

(B) ®P WEa® T Wahd )

(a) fa% (A) @&t 2
) faw (B) w& 21
() (A) &1 (B) W& 2

(d) 1/16(b)

d (A) T (B) & ft Tt 7 2 ()
Marathon : Race :: Hibernation: ?

(a) Winter (b) Dream (c) Bear (d)Sleep(d)
3G is /35 %:

(@) A generation of standards for mobile phonefq’@'sﬁ

wH & fau aFw = die

A generation of standards for landline phone/

dead ®H % fou aeE #t T de
(c) Nameofa scam/SIeTe T 1S

(d) None of the above/3TUad H ¥ &IE F&1
Latest processor from Intel is

(a) Core 2 Duo (b) Dual Core

(c) Corei5s (d) Pentium

Full form of UPS is

THTH F FA FH

(a) Uninterred Power Supply /37a1fya faga smgfd

(b) Uninterrupted Power /faia wifsd

(c) Uniform Power Source /HHTH vife @a

(d) Uniform Power Supply /419 fasteit :mgﬁi (b)
RAM in present day computers is available in size of /

TN TG F BT F RAM S R # Iuere §
(a) GB (b) MB (c) TB (d) KB (a)
Operator overloading in C++is

C++ ¥ HfqIeT AreRATET &

(@) Making C++ operators work with objects / |l ++

S *l axqA & A HH HA

Giving new meaning to existing C++ operators/ﬂ\ﬁﬁl

@t ++ g T 3Y ]

Making new C+ + operators /AT C++ 3TqLeX T
Both (a) and (b)/AF (a) 3R (b) d

(b)

(@)

(©

(b)

©
(d)

32.

33.

34.

35.

36.

In C++, a destructor takes

o ++ ¥, um feea=T &=t §-

(a) One argument /T GG

(b) Two arguments /31 &

(c¢) Three arguments IGIREGED

(d) Zero argument A e

In C++, a function contained within a class is :

|t ++ ®, wam & sfiew Prfta v §:

(a) A member function /T&% W& HRIE

(b) An operator /Tsh AR

(c) A class function /T 7 GHNE

(d) A method /T Tasit

Fields in a class of C++ program are by default

C++ WITH & Tah &9 H Gies fewiee v A 8

-

(a) Private

(b) Public

(c) Protected

(d) None of the above

In'C' Language/‘?ﬂ" areT o

(@) Array stores data of the same type f@ TH &

THER & S H ©R HE 2

Array can be a part of a structure / U3 Tsh TL=AT

#1 feem & 9

Array of structure is allowed /STSHT ! |0 &l

sqefa @

Structure stores data of same type /AT TE A

YHR H A Fl LR ww@l

(a), (b), (c) are correct/(a), (b), (c) et %

Only (a) and (c) are correct /a1 (a) 3R (c) Tl &

(a), (b), (d) are correct/ (a), (b), (d) TET &

Only (a) and (b) are correct [T (a) 3R (b) T& 4
()

In context of object oriented programming in Visual

Basic, controls are

fasp afas ¥ ifeiae iftdds whfim &
dae o, frgaor §

(a) Objects/a=GS

(b) Part of the menus/H7_ T feen
(¢) Code/®TS

(d) Rules/f7aH

(d)

(@)

(@)

(®)
©
(d
M
@

©))
@

(a)
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37. The location of the form on desktop (OOP in Visual

38.

39.

40.

41.

Basic) during execution is determined by the

Freare & AR Sneia W Wi @ e (R
afaw ¥ ooP ) grt Fuifta fvar T # -

{a) Form Designer Window rerd fesmeR fast

(b) Project Explorer Window /Sioiee. TR o=t
(c) Context Menu /99 ﬁ’i

(d) Form Layout Window /& Aese fast
IDE is

ATESE ®

(@ Independent Development Enterprise/ﬁﬁ"ﬂ
o= 3mm

A Development Environment for machine language/
Wi 9 & fow v faem watam
Integrated Development Environment /<t %d
for gafero

A Software project management tool /& TIFAT
IS yE A Sy ©)
JAVA is platform independent because .

AT Wew EaT § wifw

(a) it creates source file/a¥ Wid BEe ST ©

(b) it creates object code on compilation/Jg TaHherA
R 3R Fe a9 E@ &

it has different versions of compilers for different
hardwares/398 fafy= e€am = fou Suad
% fafg=r g €

it used different softwares on different hardwares/
TH ST~ BEAR T 3T 3o TRAR
1 T R (b)
Which of the following features is available in JAVA?
Frafefaa & & @ o favrear mar o suere &2
(a) Applets

(b) Swings

(c) Both of the above /ST THI

()

(®)

©

@

©

(@

(d) None of the above /3T0 § 9 HIT T8 ©

Java differes from C++ because

TM&T C++ W WA ¢ Hifew

(@) Java does not support operator overloading/Sarn
TR AATANET 1 A T& L

(b) Java does not use pointers/STal Gised 1 IYFNT
T w2

(c) Java does not support global variables/SiTan
ftas = F1 gHd T F R

(d) a, b and c are correct/a, b AT (o

42.

43.

44,

45.

46.

Blue ray disc is

L R R e

(a) An IC device/t® 3mdt feamsw

(b) An optical Device/T& 3ffewda feary

(c) Both of the above/3Tad T

(d) None of the Above/390ad ¥ ¥ #IE & ()

How are HTML forms and X forms related 9

HTML Wid 3K X ®id &d gafuq €72

(@) X Forms are old generation of HTML formg
T Y TIETHTS Hid 1 QO Wit @

(b) X Forms are middle generation of HTML formg/
T B TEEIUHTE GH H A digt §

(¢) X Forms are new generation of HTML formg/
TH B TESTHTE iH H TS diet €

(d) None of the above/STUIa W & HE T (b

When did X Form 1.0 become W3¢

Recommendation ?

X WH 1.0 Ha W3e INHN &7 417
(a) Since October 2003/3T2aR 2003 ¥
(b) Since October 2004/37TSR 2004 9
(c) Since October 2005/3Ta=sR 2005 9

(d) Since october 2006/37RER 2006 ¥
Which one is correct ?

A W WE 2
(@) XForms is both device and platform independent/
T B A fearg iR wiewi w@da
(b) X forms is platform independent but not device
independent/Ta BTH Wi Waa & ofed

fearsa @dy =&

(©) XForms is not platform independent but device
independent/Ta HiH WHH @Wdd @l afch
ey @ds @

(d) Xforms is not platform and device independent/
T B e iR feary wWar @ ¢ @)

Using Windows API, you can extend testing

abilities and add usability and flexibility to your -

TiE wdtens wr SunT e, SN witgror gEard

=1 R @ e ¥ 3l sray ferg swair ol

TG WIg Tehd & -

(a) Tests/e=

(b) Function Libraries/®aRT weal

(c)Appl ications/ﬂ'jﬂﬂh

(d) Both (a) and (b)/aT (a) 3R (b)

©

e

e wvITITAR
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47. In multiple document interface (MDI)

48.

49.

50.

S51.

S2.

TS T jerew (udend ) §

(2) All windows reside under a single parent window
(except model window)/at fag! fdme Wz et
% 3iqiq wd § (dfedt el A Bgw)

(b) Windows are separated from each other/faest
TH TR | I B 9§

(¢) Both (a) and (b)/( (a) 3R (b)

(d) None of the above/STs o | 1§ 7&l

Disadvantage of MDI includes

TAERE & THE ¥ e §

(@ Lack of information about currently opened
windows/siHH H et g8 fasfeai & ar o
AR T 3197

(b) Content overlapping/&r it 3tfqeamdt

(c) Both of the above/3wiad <A1

(d) None of the above/STed H | g &l

DLL in whindows is-

fieis ¥ DLL 2-

(a) Dynamic Link Library/Srmfas fae e

(b) Digital Logical Link/fefsea @ifsaa fas

(c) Digital Linear Library/fefSieat sfifmr amsst

(d) Dynamic Linear Link/Tfasiiat @ fasw  (a)

DLL is -

(a) A collection of small plrograms which can be
called upon when needed by a program in

execution/31E FHHFHH! FI Th e 59 Frearq A
T FHE G HEYE e R A ST HHd §
(b) An Application Software/Tsh TEATH YA FIRAT
(c) Both of the above/SUUE e
(d) None of these/zTd d g =&l (a)
Which of the following is system Software ?

Frerfafaa § ¥ &= @ faew Software &7
(a) Microsoft word/TgehaIe e

(b) Adobe Photoshop/TeTa HTERId

(c) Microsoft Power Point/HTEeh GG TE @Ee
(d) Windows 7/faiest 7 (@
Which of the following is largest memory in size ?
fFreforiaa ¥ ¥ B TR § ol wgt AW 87
(a) Terabyte/2Xr=gS
(b) Gigabyte/TTeES
(c) Megabytefﬂ"‘l@%’é
(d) Kilobyte/foreiange

(@)

(©)

(a)

53.

54.

S5

56.

87

58.

59.

60.

Linux is a —__ type of software.

e & wer @ weedw

(a) Proprietary/aifetsmn

(b) Shareware/3rawaaR

(c) Open source/gen W

(d) Commercial/atfofizes ()
The capacity of a standard Blue-ray disk with
single layer is

Rirer vt arett w A w7t foww @6t g €
(a) 25 gb/25 Sieft (b) 50 gb/50 it

(c) 75 gb/75 irsit (d) 100 gb/100 SHat  (a)
What is the function used to detect end of file ?
TS & 3{d &l TaT oA @ fT fRd wae
3IuA fear ST 272

(a) feof () (b) ferror ()

(c) fputs () (d) fgets () (a)
What is the function used to detect end of file ?
TTSeT & 3 ol TaT o & T fona wammt &t
Iuan faar T 82

(a) Slide Sorter View  (b) Slide Vary View

(c) Slide Marger View  (d) None of the above (a)
Which is the most expensive memory ?

TEd gt A i W R ?

(a) CD (b) DVD

(c) Cache (d) Hard Disk (c)
Which of the f ollowing decive can be used to
directly read image printed text ?

of wfga ws T WS Ty B forg PreviRaa

¥ fara gfem =1 S feRan < wehar €72
(a) OMR (b) OCR
(c) MICR (d) All of the above (b)

Which of the following are the two main
components of the CPU ?

Wiy & & g vew Frffea A dda A e ?
(a) Control unit and registers/FTa=01 T8 3R R
(b) Registers and main memory/ISie 4R = WA
(c) Control unit and ALU/& 211 FfFe 3R ALU

(d) ALU and bus/T@&Tg 3R &9 (c)

The advantage of Component Object Model

isit’s ___ and

Firiz stz WA w AW TE __ R __ %

(a) Compact size, Speed readabilityfas'f‘aa% HATHR,
UIRCRIEG]

(b) Compact size, Speed/a-ﬁ"aﬂz R, T

(c) Readability, Speed /T, Tfd

(d) Low cost, Readability/®d T, gSHEd  (b)

12771
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61.

62.

63.

64.

65S.

66.

67.

68.

The output quality of a printer is measured by __
fifzT &t SIeqZ UTENT ___ EWT Wrdt et t
(a) Server/dax (b) Client/TesS .

(¢) Mainframe/®7%d  (d) None/&1E & (a)
The output quality of a printer is measured by
we fiex & aseqe U GRT Wndt et ¥
(a) Dot per inch

(b) Dot per sq. inch

(c) Dots printed per unit time

(d) All of the above

Convert/&Tag i: : (1111001), = (),
(@ (27),, ®) (29),,

() 31, @ (121),, )
What is the base of octal number system ?
HEEH WEAT WU T A9 & § ?

(a)

(a)2 (b)8

() 10 (d) 16 (b)
Which of the following is volatile memory ?
Pretferfiaa 3 @ =i st why &2

(a) ROM (b) RAM

(¢)CD (d) Hard Disk (b)

What is maximum data capacity for optical fiber
cable ?

Hifeher wIgaR Faet & fora sifusam T swar

= 77?

(a) 10 mbps (b) 100 mbps

(c) 1000 mbps (d) 10000 mbps (c)
What is gutter margin ?

e midT T & 2

(@) Margin that is added to the left margin when
printing/AisA s fiz @ 997 aw =g §
EISE I

(b) Margin that is added to right when printing/m1fSi
st fie #3d 99a 318 SR e S

(c) Margin that is added to the binding side of page
when printing/A1fSi7 S B9 Fd 999 S &
MFHN 9y F Srer S 2

(d) Margin that id added to the outside of the page
when printing/ iz %@ 999 37 3t =1 7=
* R ST T A ©

Which of the following is not a font style ?

PR s we ena @ ¢ ?

(a) Bold/diee (b) htalics/SfeT

(c) Regular/fafi@  (d) Superscriprgmfar= @)

69.

70.

71.

72.

3,

The term “Operating System” means-

sfatfen frew v @ e §-

(a) A set of programs which controls compute,
working/SUTHl #1 & ¥ M FYXR F Fn
FA 5 fata s 2

(b) The way a computer operator works/fS8 g
q F FGR ARA F9 F@ &

(c) Conversion of high-level language into machine
level language/3=9-&{G 9191 F1 HYH-wI{y
qre] H F YAl

(d) The way a floppy disk drive operates/fSq atg
¥ uw W ferw g gufed et & (g

Which of the following Operating Systems is better

for implementing a Client-Server Networking?

FAEE-WAT qeafen W AN ®W & fow

Porerforfiaa # & =i w1 steET o dg i

(a) MS Dos (b) Windows 95

(c) Windows 98 (d) Windows 2000
In a DBMS, you can

Ts& DBMS ¥, 317 &7 §ahd &

(a) Create a file/Ts ®1Za 910

(b) Delete a file/Ts ®Ee g2@

(c) Retrieve a file/T® S3d Ird &3

(d) All fo the above/3STiaa & fou gt (d)

In Visual FoxPro, what does the message
*Cannot Quit Visual FoxPro” mean ?

e @it #, “Cannot Quit Visual FoxPro”

|V W =T o R

{a) Some syntactical error in program/9rumy o B
THEF Ff2 '

(b) Some event handling loop still running/Hs $ae¢
Fsfei o9 aft ot =t w1 2

(¢) Insufficient memory/3799te fa

(d) None of the above/3qtiag ¥ ° HE TE  (b)

Choose the correct meaning of SQL statement:

SQL &aT & Wt 3rdf <[+

Select * from r4r_emp;

(@) Selectall columns from the table/arferT g asft
e F wET w

(b) Select all records from the table/afers § |t
FfverEl &1 577+

(c) Select first four attributes from the table/arfeis
q veot =R favivasd w1 w99 =y

(d) None of the above/STIF ¥ @ %iE 78 (b)

(d)
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74. Which of the following is not a data type in

75.

76

i

78.

.

80.

-(d) Number/S&1

Microsoft Access ?

et ® | I AgehraiTe TaRE W 32T TR @ §7?
(a) Picture/Graphic/faa/mitres

(b) Date/Time/f&ATsh /99

(c) Text/q3

(@)
Which command brings you to the first slide in
your MS Power Point Presentation ?

T W HHS TS TS THUE Yo GIES
UV | Ut wgE WA 87

(a2) Next slide button (b) Page up

(¢) Ctrl + Home (d) Ctrl + End ()
Which option on the custom animation task

pane allows you to apply a present or custom
motion path (MS Power Point) ?

HEd THHYA 2 99 W & §r fawe
TR YSE AT HEEH WO T (THTE GreT

WEE ) W WY F sty 2 32

(a) Add effect

(b) Emphsis

(c) Animate Now

(d) All of the above/3TUa Tt (d)
What are the columns is a microsoft Access
table called ?

T THAH 2ol &l HIcTd o1 hed ¢ 2
(a) Rows/dfear (b) Records/f@&iE

(c) Fields/& (d) Cells/Ha ©)

Which part of database holds only one type of
information ?

2T H BT G AT HaA Tk THR I
TR T 87

(a) Report/ftare (b) Field/®lce

(c) File/®=a (d) Record/R@Ts (b)
Which of the following is not a programming
language ?

Preferfaa ¥ ¥ @ o wofET e TS € ?
(a) Basic/afqa (b) Java/STEn

(c) C# (d) Turing/agRT (d)

What do we a network whose elements may
be separated by some distance, it usually in
volves two or more small networks and
dedicated high speed telephone lines ?

81.

82.

83.

84.

85S.

T & 2as o o ¢ Riwd aw @ 5o

|/ 3o R o1 w@ar €, aF smdR R v @
| i B Yeas v wufta ve= iy e
e o grar §7
(a) URL/Z3RTe
(c) WAN/TH

(b) LAN/&9

(@ WWW )

How many TCP connections does FTP use ?
TwETd femam it @aamr T IuEnT wear §7
(a) One/T® (b) Two/R

(¢) Three/da (d) Four/SR (b)
What is tool tip text ?

za fou 2o w7 2

(a) Too tip text is a tip of the day/g feu e f&m
# T feg ?

(b) Tool tip text does not exist/Ze fou e AR &l &

(c) Tool tip text is the same as the caption/Zd feu
THE BWE F 99F ©

(d) Tool tip text is shown when the mouse is over
an object for a period of time/Z& feq 22 T9
femman w1 @ S@ ASY fRd 9 W 9Hg w5

afy = fau e 2 (d)
In C + +, 14: 4 equals to -
C++ W, 14: 4 SEX T -
(@) 1 (b)2 (©)3 d4 (b)

In the Integrated Development Environment,
which of following is used to design the layout
of an application ?

3T Saeiz THArEEE §, tRaave &
warse ol feugs =3 & fom frefafaa & |
foraen Suam forar ar 22

(a) Form Designer Window/%d fesmz fa=t

(b) Project Explorer Window/JiSiae T faet
(¢) Context Menu/98T Hq

(d) Form Layout Window/%TH &313e fast

The Object Browwer in
Development environment

Tehichd TqeRTE STaTauT ¥ 3fisaae SIS

(a) Displays the command Button and Textboxes etc/
FATE Fe7 3R SFEFd A Wi F 2

(b) Shows frequently used shortcuts as objects/aEgi
% T T TR ST R S o videhe e B

(c) In a Context Menuw/T& T ﬁ’i ]

(d) Displays the object libraries and their
combinations of data and code/3fssae e
3Rk 37 22 R FIT B FIH & TR

XIS (d)

(a)
Integrated
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86. Main function of proxy application gateway

87.

88.

89.

90.

firewall is to -
wiard Tierahy Yo wreRate o ge e § -
(@) Allow corporate users to use internet efficiently
/HTARE ITArTERAl H HIEAEE TS
I FWA H AEN
(b) Allow intranet users to securely use internet
specifically/gMe IuaNTEHdiel ! faviy 9 @
FUHd U W 32E HT ST FH w1 IAEN
(c) Allow corporate users to use all internet serivice/
FIARS ITARTHAISA H G TR Fars
SUEM FH H FAHMA ]
(d) Prevent corporate users from using internet
services/HIINE ITANTHAISA ! I Qarsi
H1 ITEE FH W U (b)
For B2B e-commerce, what is necessary ?
B2B 3-&imd & fou == ey € 2
(a) World Wide Web/ac@ arse a9
(b) Secure Payment Services/gU&d M darg
(c) Secure electronic communication link/gtf&a
oIt 9aR fdw
(d) All of the above/3WRIa Gt
EDIFCT is a standard -
EDIFCT U& HI& & -
(a) For representing business forms in e-commerce
A-wmd ? sEatgs w9 61 sfafAive :6
% fau
(b) For e-mail transactions for e-commerce/$-shiqd
&+ fou §-9e oA & foag
(c) For FTP in e-commerce/3-&d d FTP & fog
(d) Protocol used in e-commerce/s-FAH H g
PICEAS (a)
“C» is a/@’ TH B
(@) High level language/3=a &g 4l
(®) Low level language/f=1 &R s} A
(c) High level language with some low level features/
%® = T =t favivaed & w9 3= wlg W
(d) Low level language with some high level features/
7B == WY fowwaed & w9 o <) F 9

(d

(©
intx=2*3+4*5;
Then x = ?
(a) 22 (b)26
(c)46 (d) 50 (b)

91.

92.

93.

94.

985.

96.

- |
Use of functions/@&Tal T ITANT -

1. Enhances logical clarity of program/®™d%y 3
Ak T T ©

2. Makes debugging easier/fEafiin =1 s Tm §

3. Helps avoid repeating of statements/sam i =
e ¥ T ¥ HER H ¥

) 1,2,3 arecorrect/l, 2, 3 W&l &

wer e ¥ waer ARuEe UH WW ¥ @R

intz,x=5,y-10,a=4,b =2;

In a ‘for loop’ (C Language), if the condition is

a). continue statement

(a) a, b, ¢ are correct/a, b, ¢ Tl ¥ 4
(©)

Complexity for linear search is

(d) None of the above/3Tied ¥ & &g &1 (b)

& W H R

(@ Only 1 and 2 are correct/®ad | 3R 2 W ¥ J
(b) Only 1 and 3 are correct/ad 1 3R 3 W &
(d) Only 3 is correct/ad 3 T&t )
Charecter Variable in “C” language can store |
at a time -
T ¢ - |
(a) 1 Character (b) 8 Character !
(c) 254 Character (d) 256 Character (a) ﬁ
z=x++---y*b/a

Then z=7?

(a) 5 (b)6 (c) 10 @1t (c)
missing then infinite loop can be avoided by -
‘G T’ (iAW) o, afe sy e € @
3T W W =T W Wehall ® -

b). gota statement

¢). return statement i
d). break statement ‘
(b) a, b, d are correct/a, b, d & ¥

(¢) b, ¢, d are correct/b, ¢, d TE ¥

(d) a, ¢, d are correct/a, ¢, d W&l ¥

Haw dwr & fom wfeemr §

@O (1) () O (n)

(c) O (log n)

Time take for addition of an element in a queue
is of the order of

T&h &l o Ueh a St WgA # oW aren @9
(@0(1) (6) O (n)

(c) O (logn)
(d) None of the above/3utiad | & &5 T&f

()

—
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97.

98.

The tags used for specifying fonts in HTML
are

HTML ¥ Wie fafde & & fog swam fv s
T 2T

a).<B> b).<P> ¢). <U> d).<L>
(@ aandb/a 3R b (b) a and c¢/a IR ¢
(c)band d/b 3R d (d)a,b,and c/a, b,ai‘Rc(a)
HTML used
TSRITATe e fehar

(a) Pre specified tags/‘Iéf fafde &

(b) User defined tags/Suarmerai aftenfira >

(¢) Tags only for linking/@a foish & = (g 2

(d) Fixed tags defined by language/+Te gRI TRt
fafesa on (d)

99. C + + was originally developed by

C++ WA U ¥ g faafum famar mar @
(a) Nicolas Wirth:

(b) Donalt Knuth

(c) Bjarne Stroustrup

(d) Ken Thompson (©)

100.A constructor in C + + is called whenever-

C++ ¥ T HEHRT & Ta ot Hgr Fr ¢-
(a) An object is declared/T & Wi FI S 2

(b) An object is used/Tsh & 1 A foa S 2
(c) A class is declared/T® @ fo feran S 2

(d) A class is used/Tsh a1 1 3TN fehan (4 (a)
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